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Reading Passage 1: 
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Reading Passage 2 
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Reading Passage 3 
 

 

 



9 
 

 

 

 

 

 

 

 

 

 

 

 



10 
 

 

NAEP Question CCLS Alignment 

 

The following questions refer to Reading Passage [1]   
   

1. Do you think the statements by Abigail Adams in the first paragraph are 
an effective way to begin the article? Explain why or why not using 
information from the article. 
 
 

     

2. According to the article, what was most surprising about the 
"Womanifesto"? 
A. It was written by Elizabeth Cady Stanton. 
B. It called for equal voting rights for men and women. 
C. It was based on the Declaration of Independence. 
D. It had such a large number of resolutions. 
  

     

3. In describing the women's suffrage movement, the author uses such 
words as "battle," "militant," and "showdown." Do you think this is an 
effective way to describe the women's suffrage movement? Support your 
answer with two references to the article. 
 
 

    

4.  On page 3, the article says that women in the suffrage movement 
"pressed their case state by state." This means that the women  
A. spoke with newspaper reporters in many states 
B. strongly urged the states to pass women's suffrage 
C. traveled in large groups together from state to state 
D. introduced the idea of women's suffrage to the states 
  

     

5. The section "Wyoming Is First" describes changes in United States 
society in the late 1800s and early 1900s. Choose one of these changes 
and explain its effect on women's progress in getting the vote. 
 
 
 
 
 
 
 
 

 
 
 
 
RI.8.1, RI.8.2, RI.8.5, W.8.2, 
RH.6-8.6 
 
 
 
 
 
RI.8.1 
 
 
 
 
 
 
 
 
RI.8.1, RI.8.4, RI.8.6, RH.6-
8.6, RH.6-8.8 
 
 
 
 
 
 
RI.8.4, L.8.4, RH.6-8.4 
 
 
 
 
 
 
 
RI.8.1, RI.8.2, W.8.2, RH.6-
8.1 
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NAEP Question CCLS Alignment 

The following questions refer to Reading Passages [2] and/or [3]  
     

6. The following is from the essay "Twins." 
 
Occasionally, a sightseer would appear and wander aimlessly by, but of 
all who passed none was aware that anything extraordinary had 
occurred. "Looka the kangaroos!" a child cried. And he and his mother 
stared sullenly at the deer and then walked on. 
 
 
 
 
In these sentences, E. B. White is mainly 
 
A. showing how much he knows about animals in the zoo 
B. contrasting his experience with that of the other sightseers 
C. showing that he enjoys the reactions of children 
D. comparing the reactions of children and adults 
  
 

    

7. How do you think E. B. White feels by the end of his visit to the zoo? 
Support your answer with reference to the essay. 
 

     

8. Using details from the essay "Twins," explain what E. B. White means 
when he says, "We encountered better luck than we had bargained for." 
 
 
 

      

9. Explain why the setting of a zoo in a city helps to make E. B. White's 
essay "Twins" more effective. 
 
 

    

10. Which of the following is a major idea of the biographical sketch of E. B. 
White? 
A. His writing was enjoyed by adults. 
B. He wrote for average readers. 
C. His writing was not easy to categorize. 
D. He was a typical children's author. 
  

     

 
 
 
 
RI. 8.1, RI.8.6, RH.6-8.1, 
RH.6-8.2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
RI.8.1, W.8.2, RH.6-8.1 
 
 
 
 
RI.8.1, W8.2, RH.6-8.1 
 
 
 
 
 
 
RI.8.1, W.8.2 
 
 
 
 
 
RI.8.1, RI.8.2, RH.6-8.2 
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11. The following is from the first paragraph of the essay "Twins." 
 
They stood there, mother and child, under a gray beech whose trunk was 
engraved with dozens of hearts and initials. 
 
 
What does the sentence imply? 
 
A. E. B. White is sympathetic to parents and children. 
B. The deer were hiding from E. B. White and the other sightseers. 
C. E. B. White is aware of both nature and the urban setting. 
D. The graffiti interferes with E. B. White's enjoyment of the scene. 
 
 
    

12. Explain what the essay "Twins" shows about E. B. White as a person. 
Support your answer with details from both the essay and the 
biographical sketch. 
 
 

     

13.  On page 2, when the author of the biographical sketch says that E. B. 
White's essays "appealed to an urbane crowd," he is describing the 
audience for White's writing as  
A. having sophisticated tastes 
B. leading busy lives 
C. being politically conservative 
D. having a good sense of humor 

 
 
 

 
 
RI.8.1 
 
 
 
 
 
 
 
 
 
 
 
 
 
RI.8.1, RI.8.2, RH.6-8.1, 
RH.6-8.2 
 
 
 
 
 
RI.8.4, L.8.4, WH.6-8.4 
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NAEP Questions CCLS Alignment 

 
  

14. The Music Palace is having a sale. 
 
 
 

 
 
 
 
 Write an expression that shows how to calculate the cost of buying n CD’s at the 
sale.  
 
 
Answer: ____________________ 
 
 
 
  

15. Robert has x books. Marie has twice as many books as Robert has. Together 
they have 18 books. Which of the following equations can be used to find the 
number of books that Robert has? 

A.  

B.  

C.  

D.  

E.  
  

16.  The point  is a solution to the equation  . What is the 
value of k ?  

A.  

B.  

C.  

D.  

E.  

 
 
7.EE.B.4 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7.EE.B.4 
 
 
 
 
 
 
 
 
 
 
8.EE.C.7b 
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NAEP Questions CCLS Alignment 

  
17.  The number of gallons of water, y , in a tank after x hours may be modeled by 

the linear equation  . Which of the following statements 
about the tank is true?  

A. It is filling at a rate of 800 gallons per hour. 
B. It is filling at a rate of 50 gallons per hour. 
C. It is emptying at a rate of 16 gallons per hour. 
D. It is emptying at a rate of 50 gallons per hour. 
E. It is emptying at a rate of 800 gallons per hour. 

 
  

18.  If  and  , which of the following must be true?  
 

A.  

B.  

C.  

D.  

E.  
  
 

19. In the sequence below, the ratio of each term to the term immediately 
following it is constant. What is the next term of this sequence after 2240? 

                                            
35, 280, 2240, _______ 

 
 
  

20. Each figure in the pattern below is made of hexagons that measure 1 
centimeter on each side. 

 
 
 
If the pattern of adding one hexagon to each figure is continued, what will be the 
perimeter of the 25th figure in the pattern? 
  

 
8.F.B.4 
 
 
 
 
 
 
 
 
 
 
 
7.NS.A.3 
 
 
 
 
 
 
 
 
 
 
 
7.RP.A2 
 
 
 
 
 
8.F.B.4 
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NAEP Questions CCLS Alignment 
Show how you found your answer. 
 
 
 
 

  Mon. Tues. Wed. Thurs. Fri. Sat. 

Number Sold,  n 4 0 5 2 3 6 

Profit,  p $2.00 $0.00 $2.50 $1.00 $1.50 $3.00 

 
 

21. Angela makes and sells special-occasion greeting cards. The table above 
shows the relationship between the number of cards sold and her profit. 
Based on the data in the table, which of the following equations shows how 
the number of cards sold and profit (in dollars) are related? 

A. p = 2 n 
B. p = 0.5 n 
C. p =  n - 2 
D. p = 6 -  n 
E. p =  n + 1 
 
 

22. At the school carnival, Carmen sold 3 times as many hot dogs as Shawn. The 
two of them sold 152 hot dogs altogether. How many hot dogs did Carmen 
sell? 

A. 21 
B. 38 
C. 51 
D. 114 
E. 148 
  
 

23. In the equation  y = 4 x, if the value of  x is increased by 2, what is the effect on the 
value of  y ? 
A. It is 8 more than the original amount. 
B. It is 6 more than the original amount. 
C. It is 2 more than the original amount. 
D. It is 16 times the original amount. 
E. It is 8 times the original amount. 
  
 
 

 
  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
7.RP.A.2c 
 
 
 
 
 
 
 
 
 
8.EE.C.7b 
 
 
 
 
 
 
 
 
 
6.EE.C.9 
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24. According to the pattern suggested by the four examples above, how many 
consecutive odd integers are required to give a sum of 144 ? 
A.   9 
B. 12 
C. 15 
D. 36 
E. 72 
  

25. If the grid in Question 10 were large enough and the beetle continued to move in the 
same pattern, would the point that is 75 blocks up and 100 blocks over from the 
starting point be on the beetle's path? 

 
  

                         Yes                             No 
 
  
 
Give a reason for your answer. 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7.NS.A.3 
 
 
 
 
 
 
 
8.F.B.4 
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NAEP Questions CCLS Alignment 

26. The graph below shows the cost that two long-distance telephone companies each 
charge for calls of various lengths (in minutes).  

 
a.  What is the cost of a 4-minute call using Company  B ? 
      __________________________ 
 
  
 
b.  What is the cost per minute for a call using Company  B ?  
      __________________________ 
 
 c.  Determine the amounts of money saved (in cents) by using Company  B instead 

of Company  A when calls of 1, 2, 3, 4, and 5 minutes are made. Then graph the 
five points that represent the savings on the grid below and connect the points 
with a dotted line. 

 

 
 
  
 
 
 
  

8.F.B.4 
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1, 9, 25, 49, 81, ... 

  
 

27. The same rule is applied to each number in the pattern above.  What is the 6th 
number in the pattern? 
A.   40 
B. 100 
C. 121 
D. 144 
E. 169 
  
 
 

28. A certain even number is divisible by 9. This number is between 100 and 120. What 
is the number?  
 
________________________  
 
 
 
  

29. Peter bought 45 sheets of plywood at a total cost of $400. He plans to sell each sheet 
of plywood for $15. If Peter has no other expenses, what is the fewest number of 
sheets he must sell to make a profit? 
A. 3 
B. 15 
C. 16 
D. 26 
E. 27 
 
Did you use the calculator on this question? 

 
  
 
 

30. The sum of three numbers is 173. If the smallest number is 23, could the largest 
number be 62? 
                          Yes           No 
 
Explain your answer in the space below.  
 
 
  
 
Did you use the calculator on this question? 

 
  
 

 
 
 
7.NS.A.3 
 
 
 
 
 
 
 
 
 
5.NBT.B.5 
 
 
 
 
 
 
 
7.EE.B.4b 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6.EE.A.2 
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31. An airplane climbs at a rate of 66.8 feet per minute. It descends at twice the rate that 
it climbs. Assuming it descends at a constant rate, how many feet will the airplane 
descend in 30 minutes? 
A. 96.8 
B. 133.6 
C. 1,002 
D. 2,004 
E. 4,008 
  
 

              
 

1 serving =   pineapple 

 

32. Given the information above, write a mathematics word problem for 

which     would be the method of solution. 
 
Answer: _____________________________________________________________ 
 
____________________________________________________________________ 
 
____________________________________________________________________ 
 
____________________________________________________________________ 
 
____________________________________________________________________ 
 
  
 

33. Raynold had 31 baseball cards. He gave the cards to his friends. Six of his friends 
received 3 cards each. Seven of his friends received 1 card each. The rest received 2 
cards each. How many of his friends received exactly 2 cards from Raynold? 
Explain how you found your answer. 
  

 
 
 

7.RP.A.3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6.NS.A1 
 
 
 
 
 
 
 
 
 
 
 
 
 
4.OA.A.3 
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